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postgres=# select id, count(*) from tbl group by 1 order by 1;
id | count
S
0 | 10096
1] 91
2| 97
31 92
4| 109
5| 108
6| 97
7| 100
8| 103
9| 88
10| 89
11] 99

12 |

91
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GINZ 5]

A, GINEG, FHIHRRCR
postgres=# select info from arr ;

info
{9632,6798,2069,3533,2702,3191,5561,8756,4391,3290}
{4179,8012,6926,1643,5025,8958,8984,2823,8730,3273}
{4226,4074,9788,8491,8941,3609,5942,8588,5395,307}
{2632,5028,7105,4702,8561,9807,7893,4121,8563,2284}
{7412,2743,296,4337,4386,5320,3295,3370,8143,2026}
{6643,2369,6100,6431,860,5041,40,6803,3628,5435}
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M, GINET, FIHRCR
postgres=# select ctid,unnest(info) from arr;
ctid | unnest

________ B I
(0,1) | 9632
(0,1) | 6798
(0,1) | 2069
(0,1) | 3533
(0,1) | 2702
(0,1) | 3191
(0,1) | 5561
(0,1) | 8756
(0,1) | 4391
(0,1) | 3290
(0,2) | 4179
(0,2) | 8012
(0,2) | 6926
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HH, GINEg|, FIHERE

postgres=# select id,array_agg(ctid) from (select
unnest(info) id,ctid from arr) t group by 1 order
by 1;

“'1491 {"(0,39)","(1,3)"}
1496 | {"(0,18)"}
1500 | {"(0,23)","(0,31)","(0,76)"}







2
hunfll

BURY;

 §t8 BLOCK ID (if overlap>=3)

RS B F A



ke
]
7 =

Al

BURY;

 CPU CHECK BLOCK's tuples

* BLOCK: 49
e BLOCK: 101



FaplT o

Salakje

2

TTVEF I Z: 60007
P MR A E: 10005

1) 8

e B N TR B e 11 - 50T

AGHTE AL S0 REI M, TAID A X

tEJ.507§ B T A 1000 5 e SC B AR
s




ST -1 T

WA TV, fnerads o 2
https://github.com/digoal/blog/blob/master/201701/20170112 02.md

create extension smlar;
create unlogged table test ( id serial, - & ID

arr int8[] -- 7y AhIDALEHU A, (B PR A D AInt8 IS, AR A A4l =& int8[] );

#5000 /7 ic3%, ERMT
int8 UE YE H[1~1000/7 , By 52 B4R HEFE AR & 45100075 1 .
int8[] AHKE 11~50, BIf S, 811350100 Mo

U FH — I3 AN 405K 10 5%

create or replace function f() returns void as $S
declare begin

foriin 11..50 loop

insert into test (arr) select array_agg((10000000*random())::int8) from generate_series(1,i);

end loop;
end; SS language plpgsql strict;

L X 4
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B3 AE 600077 I 5 S om

55 Fpgbenchifid H UA_EBREL, KA 5500077 X 2
vi test.sql select f(); pgbench -M prepared -n -r -P 1 -f ./test.sql -c 100 -
100 -t 12500

A 1100077 A 5T i R FE SR B
AT SIDJE EIAE 1~ 5007 BN GE TR &L, #71000 )7 kS L E L .

create or replace function f() returns void as SS declare begin
foriin 11..50 loop

insert into test (arr) select array_agg((500000*random())::int8) from
generate_series(1,i);

end loop; end; SS language plpgsql strict;

{8 Hpgbenchifi FH LA Fegi %5, A pli1000 77 #5 i 203
pgbench -M prepared -n -r -P 1 -f ./test.sql -c 100 -j 100 -t 2500
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set maintenance_work mem='64GB’;

create index on test using gin ( arr
_int8 sml_ops );

H IR smlarffi I8 S FF gist Rl, (HaAR X
[FJCASEAN L[ F gist &R 5

-- create index on test using gist ( arr

_int8 sml_ops );
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B 1% R

I R 35, SR AR5, overlap=35
tps = 9455.190803 (including connections
establishing)

tps = 9460.748975 (excluding connections
establishing)
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